R a A —TRIPNER/ N8R Bisi L EmARS
SN RT 1560% /250%800/920 m/m 2E =
B

=
/ﬁ{// FJP/—’/’—"?‘A\‘\ = —
= =
‘@A\Jﬁ‘}f////"/f&/

<

p— SV

I

| EiREER A8 1.0 EH.
O RuRER A 1.0 BR.

3 ERFUER Al 1.0 BH ) EiRBEEaeg .
R RS | MR A TE

4 RN | SNERALAM SIRIBFRRET 2, |

O, TEERRETY | RitHRD |

L
37 B KB
BB R 6B K
(g;?l ’X\(ml
| O O C o 6 OO o O O |
E BalB = A8 X
WEOKE K M K
I e N I I G
B ORARARA B B B B

O BRBEENERRES |, BERT 460%460%x30/310 m/m.
/ ERRERRRRARANED =6 —(E TR, DIRRAE , BEZHD FRE .

SEOVERATE 16 XU, BlUE / XU,
O FYmE/ BETU29 /000 .

10 MreEsE=Em 4 R,

11 A EEmE




